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(Linear Differential Equations of Second Order With Constant Coefficients)
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A =X %Er.%ﬁgl ;4 % ly"ray'+by = 0------ % =t (Homogeneous D.E.) = & f% 5 vy,
ZEA AR AN S yiray'+by =r(X)-- - 222 =t (Non-Homogeneous D.E.) =

gLy, ARG y=y, +y, (B R+ = 2)
Rt (D)4 8 (F1% s 4250, 2 23 1)

(2 & £Ey,(F1* A F B3 23 RE),
FEA A fRy, KA RAfRyY, =, B Y AL XAk
H 4 e 4255 (Characteristic Equation): A +al +b =0

0, = 2L ) 3
(1) % 42 % 4p & ¢ $9(real roots):

3 BjRy, =My, =€ T L Mmibhe o
(23 135 % N(rea doubleroots):

B BfEipRE 0 Ty =y,=¢e =k v & & 4p & (Linear dependent)
(BE* RATAfR €T LV EIEBEEFD)
TR Ry = Ry, =xy, " By 5 R (Linear independent)
i1 ﬁ* Yh =C Y, tCY; =CY; +C XY,
(3)% 12 5 = #= & 12 (complex conjugate roots):
A=p+aid,=p-gi, @ pgeR(F &) AfF y=ePV oy, =e
SEATLPL LAY R SRy, By,
y, =e™cosgx > y, =e™singx » ¥ 2 &M
%Y, =CY, +C,Y, = Ce™ cosgx+c,e™singx = e™[c, cosgx+c, singx]

H 343

a v >
11212:7 iﬁ* Yn =G Y tCY,

X%fﬂ | 1: solve y"+8y'=0 > Solution: 1"+81=0=A1(1-8)=0
&5 W fR 1y, =c +c,e”

= A1=8,1=054p R FH » y=e"% y,=¢

X%fyl | 2: solve y"+4y +4y=0
V' +4y' +4y=0=(1+2)?=0 > 1=-2.-2(Z1)

solution :
>+, xe

Rly,=e™ > y, =™ i fi: Y, =Ce

4§ 5] 31 solve y'-2y'+2y=0

2+44-8 2+2i .
= =1+i

Solution: 1> =24+2=0 > A= -
2 2

w11 i 2 0 Y, =€°[C, COSX+ C, SinX]
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_—4£16-4%4* (-9 448 1 -3
- 2% 4 B 8 _2{E 2

=y i fRy, = cley2X + cze—%X

Case2: § % and 2 =%) (kR #)
y, = ey —et-e i FRELABIT - Bl
4% (v ;2 (Parameter variable Method) © 41 # ¢ 4ren- BfE—da 0 ¥ - AP B> f2 > BR
Yo =U()* Y;(X) > U(X) = A drenanic o By, =U'*y, +uXy,
y3” =Uu"*y +u'* yll) + (u’y1' +uy;) =u"y, +2uy; +uy; o ¥ R E
[u"y; +2u'y; +uy;T+a[u’y, +uy; ]+ bluy] =0 > 32 u"(y,) +uT2y; +ay ] +uly"+ay; +by | =0
-a

* 2y ey =2hy) raly) = (2 +a)*y, =0 0 M2k +a=0.2=—"

ZYi+ay1:O311:__2a§\;i v W fRY, =CY, +C(X*Y,) R 2BfESI R - B X

uU"=0=u=Ax+B=x
B2k
X 4 solve y'+4y'+4y=0 - y(0)=1..y'(0)=1
solution : y"+4y' +4y=0=>(A+2)*>=0 » A =-2..-2(FHY)
ply,=e? s y,=e? #if j3 1 y, =ce ™ +c,xe
X yh’ =c,[e”+(-2xe ] » % x=0,y=1=1=ce’ +¢,(0) = ¢, =1
x=0,y =1=1=(-2)€e’ +c,[e’ + (0)(-2)e’] =1=-2+c,=>cC,=3
o fehidE iz oy = (De ™ +3(xe ™) = (1+3x)e ™

Case3: #: and % (£ #4F #& Complex roots)
X2 +1=0=x? =-1= x=v-1=i » V- 4=4*J-1=a*i=2i
z2=3+2i » z=3-2i(F % £ HFif )
Ein- BAfBc z=a+bi az bifdk: z=a-bi FiiFdkzPE kK
A=p+ai » A, =p-q > kp (A*+al+b=0)
Rl f2 y, =e™[c cosgx+ c, Singx]

X # | 5 : solve 16y" -8y +5y=0
8++/64-320 _8+4-256 8+16i

Solution : 164> -81+5=0" l=———— =1
32 32 32
1.1 “x X X
/1:Zi§| o AT fR Y, = el [clcos§+czsm§]

X.%;,VIJ 6:solve y" -2y +2y=0 (90 LA

_2+44-8 242
2 2
-y, =e*[c, cosx+c,sSinX]

Solution : A*-24+2=0 » A 1+i

EA

X b7 solve y'-2y'=0 (89 5 <) - Subject to y(0)=0- y'(0)=1
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Solution : y"—2y'=0: A*-24=0" A=0,1=2 ..y,ce”+c,e”

Mo FFF BB DE #3 oy 2 ffE
Ffz y'+ay +by=r(x) =
FI Ly bRy +ay' +by = r(Op USRI (R Ry, F 2 B E R F BE)
F Y,y +ay + by = r QR AR (R Ay, 7 7 E ¥ )
Bly =y, + Y, FBAmRpY y" +ay' + by = r(x) 28 = i 2
Proof : y; +ay, +by, =0 = % --—--(1)

yptay, +by, =r(x) ==--(2

D+ [y, +y,1"+aly, +y,]+0y, +y,]=r(x)

g [yI"+alyl+blyl=r(x) i FaeRdfRs y=y,+y,

Oy, = & [Heh F 8 5 5 5]

w4 mrmii=p-3
dx
dy d dZy d ) ,
=Y y=Dy= —y=y=[yd=y - y'="J=""y*=D
. d’y d
"o "ac? PV
y, +ay, +by, =r(x) = D*y+aDy+by =r(x)
1 1 1
Dil:_: r  —— = s B = = Ir(x
S R o )

(-)% r=e"(dpdk i) p3 ¥ &
X%V‘J 8: Solve y"+2y' -3y=2e"+3e > +4>d fRy=Y, +Y,

Bipd o (D2+2D-3)y=2e*+3> +4
Solution : £ Ry, :

D*+2D-3 » D=1D=-3 » ..y, =ce*+c,e*

1
b : = -
FAEY Y, D?2+2-3
1 1
=~ [2e*]+———
D2+2D—3[ ] D?+2D-3
= 1 [2e‘x]+2;
(-)+2(-1)-3 3¥+2(3-3

[2e 7 + 3e** + 4]

[3e]+

= [4e™
D? +2D—3[ ]

[3e*]+

2—[4eOX]
02+ 2(0)-3

L oerp L L peoxy==hrer 1 4
= 2671+ T 13,1+ [4e™]==Te "]+ e, ]+

A A —
""5?41\7 ° yp -

— = [
D?+aD+b ]

(1)/4}‘5 D’*Bill)\ s 3 20 :E:J}’.%_;J‘,El, :J,lﬁi%* .
-1
(D-pB)"

(2Q»2 DR » » £ 2=0 » B 23835 Yo

U
4

(o] = e"]
m
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(= )% r(0=sinpxgs cospx(= & Znk) > p3 ¥ &
(D)A2 D25+ B2EMA s A3 200 B4 ENEE -
(a4 D2 P PR A - AAZ0  BRAREyY, = - {§npx}= 2 [-cospx] &

(D*+B7%) 2p

Y, = {cos Bx} = %[sin B

.
(D*+ %)

X% ] 9 ¢ Solve (D?—4)y=2c0s2x—sin3x
Fy, 4 (D*-4=0 D=2-2 S Y, =ce* +ce

1 : 1 1 .. -1 1.
Fy ot =——-—[2c0s2X] - sin3x] = —[2c0s2X] ———[sin3X] = —c0s2X + —sin3x
Yo ¥y = 57—, 1200524 [sin3x] = —_[2c052x] - —~[sin3q = E

D?-4

Az y=y, +y,=ce*+c,e™ —%0052x+1—133in3x

o/ kA

X4 ] 10 : Solve y"+4y=sin3x= (D*+4)y=sin3x
D)y, fjD*+4=0 D=+2 -y, =€%[c, c0s2x +C, sin2x]

1. 1. o
@ vy, :m[sn&]:?sn&}x €z y=y,+y,
X% ] 11 : Solve y"+2y—35y=12e> +37sin5x

1)y, :D?+2D-35= (D+7(D-5)) =0
D=-7.,5 Sy, =ce " +c,e™

1 1 1 .
2)y. iy = = (26™)]+———[37Sn5X
@Yo, (D—5)[D+7( ) D2+2D—35[ ]

__1 [e*]+ 1 [37sin5x]=xe5x+ﬂ
(D-5) 2D - 60 4D? — 3600

[37sin5X]

= xe™ —37—100(2D +60)[37sin5x] = xe™ —37—100[74* 5cosx + 60* 37sin5X]

()% r(x):(3x2_x+3)(_: x5 I S E B

X #e b 12 ¢ Solve y"+2y' +10y = 25x° +3

= (D?+2d +10)y=25x* +3= (a,D* + a,D + a,)[ 25 x> + 3]
1

" D?12D+10
% = (D*+2d +10)(a,D* +a,D +a,) =1+0D* +0D* + 0D°® + OD*

=a,D’+aD+a, ° 51 a,..a,...a8,PEHkiE

(1) » D05 il © (10)(a) 1= &, = —

10

-1 -1,1. -1

2) v D' ikt 108 +28,=0=>a =—a, =— (=) = —

(2) - % #ic a + 23, a 5ao 5(10) =
1 1 -1

3) i w D?@ ikl a,+10a, +2a =0=> —+—a, +2(—) =0
() 23 B e 0 2 Y 10" 10 2 (50)

1 1 -3 -3
10a,=—-—=—"=_°>
25 10 50 500
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-3 ., 1 1 2
=(—D"——D+——)[25x" +3] =
Y (500 50 10)[ ] (

-3

1 -
250)(50) ~ (C)(B0X) + (- (25X +3) = ~x+ X

X;fr? ] 13 Solve 3y”+10y' + 3y =9x+5cosx+ 2e*
-1
(1) y,:3D*+10D+3=0 > 3D+1)(D+3)=0 » #71 D:—3,_?1 sy, =ce’ +ce™
1 1

2 =(a,D + a,)(9x) + ——[5cosX] + —[2e*
@ vy, =(= 0)(9%) 10D[ ] 35[ ]

:(_—10)(9)+3x+lsinx+£e2X 104 3X+ Ssinx+ 2 e

9 2 35 2 35
LR y=Y,+Y,

-1
T y=ced +c,e + 10+ 3x+ Zsinx+ 2 e
2 35
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